Day 3 °
Free Response Questions: Slope Fields and Euler’s Method

+ v
1. Consider the differential equation %: (14))

A) On the axes provided, sketch the slope field of the given differential equation.
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condition f(0)=4. Use Euler's Method, starting at x=0, with a step size of 0.1, to

' B) Let y= f(x)bethe harticular solution to the differential equation subject to the initial
O
approximate f(0.2). Show the work that leads to the answer.
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2. Consider the differential equation %zx;z- ? ‘].
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v A) On the axes provided, sketch the slope field of the given differential equation.
\I“O\( iB) Let y = f(x) be the particular solution to the differential equation subject to the initial

condition 7(0)=-1. Use Euler's method, starting at x=0, with a step size of 0.1, to
approximate £(0.2)..Show the work that leads to the answer. A (2) % ~|, o0\
. C) Find the particular solution to the differential equation with the initial condition
7
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3. Given the differential equation Zy=2y \8(0'(
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a. Make the slope field on the grid to the right.

b. Draw a possible curve through (0,1),
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C. Use Euler’s method with an initial condition of (0,3) and a Ax=0.5 to estimate

the y value at x = 1. ©.S
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_ d. Use separation of variables to solve the differential equatioh % =2y with initial

; condlflon'(o 3) to find the exact value at x = 1.
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e. Is your answer from part (c) an ove Explain.
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